
Sweater and Cardigan in Impressions10008
Circle the size youwish to make
SWEATER

BACK
Left side

MEASUREMENTS Using 3.75mm needles andthumb
method cast on 60[66:72:78:84] sts.

To Fit Bust 81-86 91-97 102-107 112-117 122-127 Row (rs): K1, 'k3, p3; rep from to last
in 32-34 36-38 40-42 44-46 48-50 5 sts, k3, p2.

Actual Measurement 99 110 121 130 141 Row 2: K2, p3, *k3, p3; rep from to last

in 39 43¼ 47¾ 51¼ 55½ st, k1.
Last 2 rows form rib.

Full Length 62 64 68 71 73 Work 26 rows more in rib.
in 24½ 25¼ 26¾ 28 28¾ Break off yarn, leavethese sts on a stitch

Sleeve Length 43 45 46 47 47 holder.

in 17 17¾ 18 18½2 18½ Right side
Using 3.75 mmneedles and thumb
method cast on 60[66:72:78:84] sts.

YOU WILL NEED Row (rs): P2, *k3, p3; repfrom to last

4 sts, k4.
Sweater Row 2: K1, p3, *k3, p3; rep from to last 2

Impressions 100g balls

Colour used Water Lillies 5404
Last 2 rows form rib

Work 26 rows more in rib.

Cardigan Change to 4.5mm needles and proceed as
Impressions 100g balls 6 follows:

Colour used Boating Lake 5405
Joining sides
Next row (rs): K3[7:6:3:7], (k2tog)

pair 4.5mm(UK 7 - USA 7) knitting needles and 1 pair 3.75mm (UK - USA 5)

knitting needles. Stitch holders. 5 buttons for cardigan; 2cm,¾in.
0[1:0:0:1] times, (k2, k2tog, k3, k2tog)
6[6:7:8:8] times, k2, with RS facing, work
across 60[66:72:78:84] sts left on a stitch

ABBREVIATIONS
holder for left side as follows: knit together
last st from right side with first st of left

alt alternate g grammes patt pattern sl slip
side, k2 (k2tog, k3 k2tog, k2) 6[6:7:8:8]

beg beginning in inch(es) psso pass slip stitch over st(s) stitch(es) times, (k2tog) 0[1:0:0:1] times, k3[7:6:3:7]

cm centimetre(s) inc(s) increase(s) rem(s) remain(ing)(s) tog together 95[105:115:123:133] sts.
cont continue k knit rep repeat ws wrong side

Next row: Purl.

dec(s) decrease(s) mm millimetre(s) rs right side
Cont in st-st dec 1 st at each end of 3rd

foll following p purl forward and every foll 24th[24th:26th:28th:30th] row
to 89[99:109:117:127] sts.
Cont without shaping until back measures

SPECIAL ABBREVIATIONS 37[37:39:41:42]cm,
14½[14½:15½:16:16½]in, ending with a

St-st. Stocking stitch ws row.

Row 1 (rs): K2, *p3, k3; rep from * to last Row 1 (rs): Knit. Shape Armholes

5 sts, p3, k2. Row 2: Purl. Cast off 4 sts at beg of next 2 rows.

Row 2: P2, k3, *p3, k3; rep from * to last 2 sts, Rep rows 1 and 2. 81[91:101:109:119] sts.

p2. Work 3[4:4:4:4] rows dec 1 st at each end

Rep rows 1 and 2. of every row. 75[83:93:101:111] sts.
Cont without shaping until armholes

The yarn amounts stated are based on average requirements and are therefore
measure 21[23:25:26:27]cm,

approximate.
8¼[9:9¾:10¼:10¾]in, ending with a ws
row.

TENSION 18 sts and 24 rows to 10cm, 4in, over stocking stitch on 4.5mm needles or
Shape Shoulders

the size required to give the correct tension.
Cast off 3[4:5:5:6] sts at beg of next
4[8:8:4:4] rows. 63[51:53:81:87] sts.

It is essential to work to the stated tension to ensure the correct size of garment
Cast off 4[5:6:6:7] sts at beg of next

and you should always knit a tension square. 6[2:2:6:6] rows. 39[41:41:45:45] sts.
Leave rem 39[41:41:45:45] sts on a stitch

and rows to 10cm, 4in, change to finer needles there are more stsIf there are less sts
holder.

and rows to 10cm, 4in, change to larger needles.
FRONT

Instructions are given for the first, smallest size. Larger sizes are given in square Using 3.75mm needles and thumb method

brackets. Where only one figure is given, this applies to all sizes. cast on 121[133:145:157:169] sts.
Row 1 (rs): P2, *k3, p3; rep from to last

Where the figure 0 appears, no stitches, times, or rows are worked for this size. After 5 sts, k3, p2.

casting off, one stitch will remain on the right hand needle which is not included in the
Row2: K2 p3, *k3, p3; rep from * to last 2

instructions that follow. sts, k2.
Last 2 rows form rib.

Although every effort has been made to ensure that instructions are correct, Stylecraft Work 26 rows more in rib.

cannot accept any liabilities. Change to 4.5mm needles and proceed as

follows:

Stylecraft cannotaccept responsibility for the result of using any other yarn. Next row (rs): K0[2:3:0:2], (k3, k2tog, k2,

k2tog) 13[14:15:17:18] times, k4[5:7:4:5].
95[105:115:123:133] sts.
Next row: Purl.
Work from ** to ** as given for Back.



Sweaters in Impressions 10009
Circle the size you wish to make

STOCKING STITCH SWEATER
(worked sideways from sleeve cuff

MEASUREMENTS to sleeve cuff)

To Fit Bust 81/86 91/97 102/107 112/117 122/127 Sleeve

32/34 36/38 40/42 44/46 48/50 Using 3.75mm needles, caston
Actual measurement 99 110 120 130 140 45[47:49:51:53] sts.
approx in 39 44¼ 48¼ 50¾ 55¼ Row 1 (rs): K1, 'p1, k1; rep from '

Full length approx 60 62 66 69 72 to end of row.

in 23¾ 24½ 26 27¼ 28½ Row 2: P1, *k1, p1; rep from * to

Sleeve length 46 46 47 48 48 end of row.

in 18 18 18½ 19 19 These 2 rows formk1, p1 rib.
Work 14 rows more in rib, dec st

YOU WILL NEED
at end of last row.

Stocking Stitch Sweater
44[46:48:50:52] sts.

Impressions 100g balls
Change to 4.5mm needles.
Row

Colour used Umbrella 5403
(rs): Knit.

Row 2: Purl.
Textured Sweater These 2 rows form st-st.
Impressions 100g balls Cont in st-st, inc 1 st at each end
Colour used Grand Canal 5401 5 of next row and every foll 6th row

pair of 3.75mm(UK 9 - USA 5) knitting needles, pair of 4.5mm(UK 7 - USA 7) to 66[66:70:68:66] sts, then inc
knitting needles, a 1.5mm (UK 7 . USA 7) circular knitting needle, stitch marker. st at each end of every foll 4th row

to 76[80:82:86:90] sts.

ABBREVIATIONS Contwithout shaping until sleeve

foll following mm millimetre(s) st(s) stitch(es)
measures 46[46:47:48:48]cm,

approx

approximately g grammes p purl st-st stocking stitch 18[18:18½:19:19]in, ending with a
beg beginning g-st garter stitch patt pattern ws wrong side row. Note the number of rows

cm centimetre(s) in inch(es) rem remain(ing) worked after the last inc so the
cont continue inc increase(ing) rep repeat other sleeve can be workedthe
dec decrease(ing) k knit rs right side

same.

The yarn amounts stated are based on average requirements and are therefore Shapebody
approximate. Note: move onto circular needle to
TENSION 18 sts and 24 rows to 10cm, 4in, over stocking stitch, and 18 sts and 28 accommodate the large number of
rows to 10cm, 4in, over textured pattern both on 4.5mm needles or the size required to

give the correct tension.
sts. Use in the same way as
straight needles, turning at the end

It is essential to work to the stated tension to ensure the correct size of garment of every row.
and you should always knit a tension square. Cast on 58[60:67:69:73] sts at beg
If there are less sts and rows to 10cm, 4in, change to finer needles there are more sts of next 2 rows.

and rows to 10cm, 4in, change to larger needles. 192[200:216:224:236] sts.

Instructions are given for the first, smallest size. Larger sizes are given in square
Place a marker at end of last row.

brackets. Where only one figure is given, this applies to all sizes. Where the figure (
appears, no stitches, times, or rows are worked for this size. Shoulder
Althoughevery effort has beenmade to ensure that instructions are correct, Stylecraft
cannot accept any liabilities.

Cont in st-st until shoulder

measures 10[13:15:17:19]cm,

Stylecraft cannot accept responsibility for the result of using any other yarn. 4[5¼:6:6½:7½]in, from marker,
ending with a p row.

Divide for neck
Next row (rs):
K96[100:108:112:118] and turn,
leaving rem 96[100:108:112:118]
sts on a spare needle.
Next row (ws): K3, o toend.
Next row: Knit.
These 2 rowsform st-st with neck
border of 3 sts of g-st.
Cont in patt on these
96[100:108:112:118] sts until neck
measures 28[28:29:30:31]cm,



Tank Tops in Impressions 10010
Circle the size you wish to make

MEASUREMENTS
FRONT

Using 3.75mmneedles, cast on
To Fit Bust 81/86 91/97 102/107 112/117 122/127 111[125:131:145:161] sts.

in 32/34 36/38 40/42 44/46 48/50 Row 1 (rs): K1, *p1, k1; rep from
Actual measurement 100 116 120 133 147 to end of row.

in 39½ 45¾ 47¼ 52¼ 58 Row 2: P1, *k1, p1; rep from * to

Full length 53 55 59 62 64 end of row.

in 21 21¾ 23¼ 24½ 25¼ These 2 rows form k1, p1 rib.
Cont in rib until work measures

YOU WILL NEED
12cm, 4¾in, ending with a rs row.**
Inc row (ws): Rib 8[7:10:5:9] sts,

V Neck Tank Top M1, (rib 4 sts, M1) 24[28:28:34:36]
Impressions 100g balls times, rib 7[6:9:4:8] sts

Colour used Moulin Rouge 5400 136[154:160:180:198] sts.

Round Neck Tank Top
Change to 4.5mm needles.

Impressions 100g balls 5

For 1st and 4th sizes only
Colour used Parasol 5402 Row 1 (rs): (P2, k4, p2, k1) twice,
A pair of 3.75mm(UK 9 - USA 5) knitting needles, : pair of 4.5mm (UK 7 - USA 7)
knitting needles, cable needle, stitch marker, stitch holders.

*p2, k8, p2, k1, p2, k4, p2, k1; rep
from to last 8 sts. p2, k4, p2.

Row 2 and every foll ws row: (K2,

ABBREVIATIONS p4, k2, p1) twice, *k2. p8, k2, p1, k2,

approx foll following mm millimetre(s) right side
p4, k2, p1; rep from * to last 8 sts,

approximately g grammes purl st(s) stitch(es)
k2, p4, k2.

beg beginning in inch(es) patt pattern st-st stocking stitch Row 3: (P2, C4F, p2, k1) twice, (p2,

cm centimetre(s) inc increase(ing) rem remain(ing) tog together k8, p2, k1, p2, C4F, p2, k1) 2[3]
cont continue k knit rep repeat times, (p2, k8, p2, k1, p2, C4B, p2,
dec decrease(ing) k1) 3[4] times, p2, C4B, p2.

Row 5: As row 1.

SPECIAL ABBREVIATIONS
Row 7: (P2, C4F, p2, k1) twice, (p2,
C8F, p2, k1, p2, C4F, p2, k1) 2[3]

M1 make a st: pick up the horizontal C4F slip next sts onto cable needle and

strand lying between the sts and k into the hold at front of work, k2 then k2 from
times, (p2, C8F, p2, k1, p2 C4B, p2,

back of it, twisting it. cable needle.
k1) 3[4] times, p2, C4B, p2.

sSk slip next 2 sts knitwise one at a time, C4B slip next 2 sts onto cable needle and
Row 9: As row 1.

then insert left-hand needle through the hold at back of work, k2 then k2 from Row 11: As row 3.

front of these stsfrom left to right and knit cable needle. Row 12 (ws): As row 2.

together. C8F slip next 4 sts onto cable needle and These 12 rows form the cable patt.
hold at front of work, k4 then K4 from

cable needle. For 2nd and 5th sizes only
Row 1 (rs): (P2, k4, p2, k1) 3 times,

The yarn amounts stated are based on average requirements and are therefore *p2, k8, p2, k1, p2, k4, p2, k1; rep
approximate. from * to last 17 sts, p2, k4, p2,k1,

TENSION 18 sts and 24 rows to 10cm, 4in, over stocking stitch on 4.5mm needles or p2, k4, p2.

the size required to give the correct tension. 22 sts (1 repeat) of cable patternmeasures Row 2 and every foll wsrow: (K2,
8cm, 3in, wide and 27 rows to 10cm, 4in. p4, k2, p1) 3 times, *k2, p8, k2, p1,

It is essential to work to the stated tension to ensure the correct size of garment
k2, p4, k2, p1; rep from to last 17

and you should always knit a tension square.
sts, k2, p4, k2, p1, k2, p4, k2.

If there are less sts and rows [o 10cm, 4in, change to finer needles if there are more sts
Row 3: (P2, C4F, p2, k1) 3 times,

and rows to 10cm, 4in, changeto larger needles.
(p2, k8, p2, k1, p2, C4F, p2, k1)
[2:3] times, (p2, k8, p2, k1, p2,

Instructions are given for the first, smallest size. Larger sizes are given in square

brackets. Where only one figure is given, this applies to all sizes. Where the figure 0
p2, k1) [3:4] times, p2, C4B, p2, k1,

appears, no stitches, times, or rows are worked for this size.
p2, C4B, p2.

Although every effort has been made to ensure that instructions are correct, Stylecraft
Row 5: As row 1.

cannot accept any liabilities.
Row 7: (P2, C4F, p2, k1) 3 times,

(p2, C8F, p2, k1, p2, C4F, p2, k1)
Stylecraft cannot accept responsibility for the result of using any other yarn. [2:31 times, (p2, C8F p2, k1, p2,

C4B, p2, k1) [3:4] times, p2,
p2. k1, p2, C4B, p2.
Row 9: As row 1.
Row 11: As row 3.

Row 12 (ws): As row 2.
These 12 rows form the cablepatt.



Cardigan and Waistcoat in Impressions 10011
Circle the size youwish to make
CARDIGAN
LEFT FRONT

MEASUREMENTS
Using 4.5mm needles and MC,
cast on 49[53:59:63:69] sts.

To Fit Bust 81/86 91/97 102/107 112/117 122/127 Row 1 (rs): Knit.
in 32/34 36/38 40/42 44/46 48/50 Row 2: Knit.

Actual measurement 103 113 123 133 143 Row 3: P1, *k1, p1; rep from to
in 41¼ 45¼ 49¼ 53¼ 57¼

end of row.
Full length 56 58 62 65 67 Row 4: K1, *p1, k1; rep from * to

in 22 22¾ 24½ 25½ 26½
end of row.

Cardigan 45 45 46 47 47 These 4 rows form the texture patt.
Sleeve length in 17¾ 17¾ 18 18½ 18½ Cont in patt until work measures

32[32:34:36:37]cm,
YOU WILL NEED 12½[12½:13½:14:14½]in,ending
Cardigan

with a ws row.

Impressions 100g balls Place markers at beg (front edge)
MC 5 of last row for V neck and end of

last row for armhole.

Colours used MC Umbrella 5403, CC- Grand Canal 5401

Waistcoat ShapeV Neck

Impressions 100g balls Keeping patt correct, dec st at

Colour used MC- End of Summer 5407 end (neck edge) of next row and

A pair of 3.75mm(UK 9 - USA 5) knitting needles, a pair of 4.5mm(UK 7 - USA 7)
every foll 4th row to

knitting needles, stitch markers, 5 buttons, 2cm ¾in. 40[46:52:55:61] sts then on every
foll 6th row to 37[41:46:49:54] sts.

ABBREVIATIONS
Cont in patt without shaping until
armhole measures

beg beginning grammes mm millimetre(s) right side 22[24:26:27:28]cm,
CC contrast colour in inch(es) p purl st(s) stitch(es)
cm centimetre(s) inc increase(ing) tog together

8¾[9½:10¼:10¾:11]in, ending with
patt pattern

cont continue knit rem remain(ing) wrong side
a ws row.

dec decrease(ing) MC main colour rep repeat yfwd yarn forward

foll following Shape shoulder
Cast off 9[10:11:12:13] sts in patt

The yarn amounts stated are based on average requirements and are therefore
at beg (side edge) of next row and

approximate.
foll 2 rs rows. 10[11:13:13:15] sts.

TENSION 20 sts and 30 rows to 10cm, 4in, over texture pattern on 4.5mm needles or
Work 1 row.

the size required to give the correct tension.
Cast off rem sts in patt.

It is essential to work to the stated tension to ensure the correct size of garment RIGHT FRONT
and you should always knit a tension square. Work as given for Left Front to **
If there are less sts and rows to 10cm, 4in, change to finer needles if there are more sts 49[53:59:63:69] sts.
and rows to 10cm, 4in, change to larger needles. Place markers at beg of last row
Instructions are given for the first smallest size. Larger sizes are given in square for armhole and end (front edge) of
brackets. Where only one figure is given, this applies to all sizes. Where the figure ( last row for V neck.
appears, no stitches, times, or rows are worked for this size.
Although every effort has been made to ensure that instructions are correct, Stylecraft
cannot accept any liabilities.

Shape V Neck
Keeping patt correct, dec st at

Stylecraft cannot accept responsibility for the result of using any other yarn. beg (neck edge) of next row and
every foll 4th rowto
40[46:52:55:61] sts then on every
foll 6th row to 37[41:46:49:54] sts.
Cont in patt without shaping until
armhole measures
22[24:26:27:28]cm,
8¾[9½:10¼:10¾:11]in, ending with
a rs row.

Shape shoulder
Cast off 9[10:11:12:13] sts in patt

at beg (side edge) of next row and
foll ws rows. 10[11:13:13:15] sts.



Accessories in Impressions 10013 IRISH MOSS STITCHSHAWL
Point

MEASUREMENTS
Using 4.5mm needles, cast on 2

Irish Moss Stitch Shawl approx. 154cm, 61in, long x 30.5cm, 12in, wide at point Row (rs): K1, p1.

Irish Moss Stitch Hat 49cm, 19¼in, circumference around head Row 2: As row1.

20cm, 8in, long Row 3: P1, k1.

Garter Stitch Rib Shawl approx. 150cm, 60in, wide x 97cm, 38¾in, deep at point Row 4: As row 3.

Garter Stitch Rib Hat 49cm, 19¼in, circumference around head
Row5: Kfb, p1. 3 sts.

20cm, 8in, long with brim folded back Row6: K1, p1, k1.
Row 7: AS row o.

YOU WILL NEED
Row 8: P1, k1, p1.
Row 9: Kfb, k1, p1. 4 sts.

Irish Moss Stitch Shawl Row 10: (K1, p1) twice.
Impressions Row 11: (P1, k1) twice.
Colour used Parasol 5402 Row 12: As row 11.

Irish Moss Stitch Hat Row 13: Kfb, p1, k1, p1.

Impressions 1 x 100g balls Row 14: K1, *p1, k1; rep from to

Colour used Boating Lake 5405 end of row.

Garter Stitch Rib Shawl
Row15: As row 14.

Impressions Row 16: P1, *k1, p1; rep from to

Colour used Moulin Rouge 5400
end of row.

Garter Stitch Rib Hat

Impressions
Irish Moss-St increase section

Colour used Sunrise 5406
Row 1 (rs): Kfb, *k1, p1; repfrom
to end of row. st inc'd.

A pair of 4.5mm(UK 7 - USA 7) knitting needles.
Also for Hats: a pair of 3.75mm (UK 9 - USA 5) knitting needles, 7cm, 2¾in, pompom

Row 2: *K1, p1 ; rep from to end

rings.
of row.

Row 3: *P1, k1; rep from to end

of row.

ABBREVIATIONS Row 4: As row 3.

approx g grammes p purl st(s) stitch(es) Row 5: Kfb, p1, *k1, p1; rep from *

approximately g-st garter stitch patt pattern tog together to end of row. 1 st inc'd.
cm centimetre(s) in inch(es) rem remain(ing) ws wrong side

cont continue inc increase(ing) rep repeat
Row 6: K1, *p1, k1; rep from * to

dec decrease(ing) k knit rs right side
end of row.

mm millimetre(s) Row 7: As row 6.

Row 8: P1, *k1, p1; rep from * to

SPECIAL ABBREVIATIONS
end of row.

Rep these rows to 55 sts, ending
kfb knit into front and back of st. with row

next st then pass slipped st over
of patt. Shawl should

sl1-k1-psso slip one st,
patt3tog either knit 3 together or purl 3 together to keep patt correct

measure approx. 30.5cm, 12in,
wide and 77cm, 30½in, long.

The yarn amounts stated are based on average requirements and are therefore Irish Moss-St decrease section
approximate.

TENSION 18 sts and 28 rows to 10cm, 4in, over Irish Moss Stitch or Garter Stitch Rib
Row 1 (rs): Sl1-k1-psso, p1, *k1,

st
on 4.5mm needles or the size requiredto give the correct tension.

p1; rep from * to end of row.
dec'd.

It is essential to work to the stated tension to ensure the correct size and you Row 2: *K1, p1; rep from to end

should always knit tension square. of row.

If there are less sts and rows to 10cm, 4in, change to finer needles there are more sts Row 3: *P1, k1; rep from * to end
and rows to 10cm, 4in, change to larger needles. of row.

Although every effort has been made to ensure that instructions are correct, Stylecraft
Row 4: As row 3.

cannot accept any liabilities. Row 5: Sl1-k1-psso, *k1, p1; rep
from to end of row. 1 st dec'd.

Stylecraft cannot accept responsibility for the result of using any other yarn. Row 6: K1, *p1, k1; rep from * to

end of row.

Row 7: As row 6.

Row 8: P1, *k1, p1; rep from to
end of row.

Rep these 8 rows to 3 sts, ending
with row 8 of patt.


